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KMP 2013-08-12
Inowrocław 33tur

M-CE NR                                           +/-    %   PKL PDF   NAGRODA
------------------------------------------------------------------------------
  1   2 Bogusz Nalazek        7.0 KP  09764 S          59.34   12  27
        Józef Matuszewski     4.0 KP  03843 S  
  2  14 Robert Mrukowski      4.0 KP  12783            58.08    9  24
        Zbigniew Łach         4.0 KP  12782 S  
  3   3 Zbigniew Ehlert       4.0 KP  10898            57.32    6  21
        Robert Kamiński       2.5 KP  11789    
  4   7 Julian Jurski         7.0 PM  03750 N          56.31    4  18
        Marek Nazarewicz      4.0 KP  03868 S  
  5   9 Grzegorz Prusak       4.0 KP  03904            56.06    3  16
        Marek Kaczan          4.0 KP  03753    
  6  12 Andrzej Sokołowski    1.5 KP  14747            55.30    2  14
        Stanisław Dankowski   4.0 KP  03115 N  
  7  11 Igor Smyk             2.0 KP  14465            49.75    1  12
        Andrzej Mitka         2.5 KP  03855    
  8  13 Piotr Szczuka         7.0 KP  03964 S          47.47    1  10
        Eugeniusz Ogonek      4.0 KP  12781 S  
     10 Piotr Litwin          4.0 KP  03818            47.47    1  10
        Jakub Mitke           2.5 KP  03856    
 10   8 Stanisław Gąsiorowski 0.5 KP        S          45.71    1   6
        Mieczysław Rejniak    2.0 KP  14475 S  

 11   6 Teodor Bykowski       1.0 KP  09446            44.95    1   4
        Edward Guziołek       0.0 KP  08377 S  
 12   1 Józef Kurnik          2.5 KP  13571 S          44.19    1   3
        Henryk Nowak          0.0 KP        S  
 13   4 Szymon Rosowski       2.0 KP  03923 S          43.94    1   2
        Tadeusz Domka         4.0 KP  03684 S  
 14   5 Arkadiusz Chyła       2.5 KP  15877            34.09    1   1
        Jarosław Łakomy       4.0 KP  03820    
                            -----
                  Suma WK =  90.5
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